12, Martalooks in her closet and exclaims, “7 have nething o wear!” How many different

. EX;S;; i cutlits of one shirt one pair of shorts, and one pair of sandals are possible using the
L itomns shown?

1

13, When g cusin mer BV iis:%;ﬁt: for a concert, the ticket office assigns a
confirmation code that is made up of 2 lowercase consonants, fnllowed
by a 3-digit number from NE e 999, Aletter or digit may be repeated. How many
ditferent confirmation codes are possible?

For Exercises 14 and 15, tell whether each situation involves combinations or

permustations. Then give the snumber of possible cutcomes.

14, Ateam of archeologists divides a dig site into 3 areas. They dig one area at a time,
How many different ways can they order the 3 areas?

5. o decide which team will lead the class discussion, a
teacher writes the names of 5 studenis on slips of paper
and puts them inea hat, Then she draws 2 names.

Hoswe many teamns of two are possible?

16. The code for a bicvale lock s made up of 4 digits from
O through & How many different codes are possible?
17, Aelevision station has 5 different commercials 1o play

:ﬁuﬁ’m 2 the news, In husﬂ many different ways can they
crader the commercia

18, i avi é:; sumuaer reading list has 9 books. How many different ways can David select
3 books 1o rea?
9. Steve oy a hand of ¥ cards from a deck of 52 different cards. How many different

hands are possible?

History The North American Numbering Plan (NANP) was firat used in 1947,

it s a svstern o1 assigning telephone narnbers and area codes.

a. Uriginally, the NANF allowsd only 3-digit area codes whose first digit was not §
or 1, miui whose second digit was always 0 or 1. How many different area codes
Wers ?“mwazi’{' under this system?

b. 17 1995, becsuse of increased demand, the NANP removed the restriction that
the second digh of the ares code must he 0 or 1, How many maore arga codes
did this make possilide?

21, Lritieal Thinking Forsn = Sandr= 2. which is targer: P oy 0.7 Explain
wiy this is frue,

22. Write About It Hxplain why a “combination lock” should be called a
“permmtation lock”

23, Wirite About It Vou z'fs%% z number cube 8 times. Explain how to determine the
number of gi 38 %ﬁ{ ateomes, Would a tree diagram be useful In solving this
problem? Explain why or “x:‘v’n":;’ nat.
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